Problem-1:   

Given       sample size=64

                 sample mean=8.4

                 sample standard deviation=7.2

                 (=0.05

                 Z(/2 =1.96

Part-(a)

Using large sample theory,  the 95% confidence interval for the mean hospital stay  is given by:

( 8.4-1.96*(7.2/sqrt(64)), 8.4+1.96*(7.2/sqrt(64)))=(6.636,10.164)

Part-(b)

If the distribution of the hospital stay is exponential, the 95% confidence interval for the mean hospital stay is constructed as in part-(a) by replacing the observed sample standard deviation(S=7.2) with an estimator of (. In this case , a reasonable estimator of ( is the sample mean=8.4.

